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Section — I
Attempt any two : 40
1.  The Standard mix of a product are as follows. 20
Materials Kgs. Price per Kg.
A 200 20
B 120 18
C 80 36
The normal loss is 10%, there is no scrap value. Actual production was 100 mix in the
month of March 2018. The actual consumption of material and cost were as follows.
Materials Kgs. Price per kg.
A 20800 22
B 12400 17
C 11800 34
Find out the following variances.
(1) Material price variance
(2) Material usage variance
(3) Material cost variance
(4) Material mix variance
(5) Material yield variance
2. The details of overheads of Sam Ltd. for March, 2018 are as follows : 20
Particulars Standard Actual
Fixed Overheads 3 1,60,000 3 1,880,000
Variable Overheads $2,00,000 3 2,40,000
Production (units) 40,000 44,000
Hours 40,000 45,000
Working days 25 26
Calculate overheads variances.
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3. Answer the following questions :

(1) A person wants to invest ¥ 15,000 for 4 years under two options;
Option— 1 : Quarterly compound interest at 12% annual rate.
Option —2 : Annually compound interest at 13% p.a.
Which of two options would be more beneficial ?
Under A — 1 table of compound interest.
The factor value of X 1 at the end of 16 years at 3% p.a. is 1.605.
The factor value of X 1 at the end of 4 years at 13% p.a. is 1.630.

(2) Explain “The Time Value of Money”. Explain in short the compound interest and
the discount method.

4. A company is considering two mutually exclusive proposals A and B. Proposal A will
require the initial cost ¥ 8 ,00,000 with salvage value of ¥ 50,000 and will also require
an increase in the level of inventories and receivables of T 4,50,000 over its life. The
project will generate an additional sales of ¥ 10,00,000 and will require cash expenses
of ¥ 3,50,000 in each year of its 5 year life. It will be depreciated as per straight line
method.

Proposal B will require an initial capital of ¥13,50,000 with salvage value of I 1,00,000
and will be depreciated on straight line basis. The expected earnings before
depreciation and taxes during its life are ;

Year 4
1 5,50,000
2 6,50,000
3 4,50,000
4 5,50,000
5 7,50,000

The company has to pay corporate income-tax at the rate of 50% and is evaluating
projects with 12% as the cost of capital.

(i)  Which of the project is acceptable under the present value method.

(1i1)) Will it make any difference to the above decision if profitability index is
employed ?

The present value of ¥ 1 at the discount rate of 12% for the first five years is
0.893,0.797, 0.712, 0.636 and 0.567.
SL-103 6



Section — II

5. In the following sub questions, more than one answer is given of which only one
answer is correct. Select the correct answer. (Any five) 10

(1) A “Zero” NPV indicates
(a) Internal rate of return
(b) Rate of return on average investment
(c) Rate of return on original investment
(d) All of the above

(2) In which method discount factor is highly necessary ?
(a) Net present value
(b) Payback period
(c) Average rate of return

(d) per share earning

(3) Which of the following is not a percentage ?
(a) Net present value (b) Payback against period

(c) Internal rate of return (d)  Accounting rate of return

(4) The efficiency variance is also known as
(a) Rate variance (b)  Quantity variance

(c) Cost variance (d) Budget variance

(5) The purchase department manager is usually held accountable for the;
(a) Labour efficiency variance
(b) Direct material price variance
(c) Material usage variance

(d) Labour rate variance

(6) The expected cost per unit of input are called;
(a) Standard price (b) Standard costs
(c) Standard quantity (d) Standard cost allowed
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A company operates a standard costing system. Last month its actual fixed
overhead expenditure was I 6,60,000 (10% above budget fixed overhead) what
was the fixed overhead expenditure budget variance of last month ?

(a) % -60,000 (b) T+ 60,000
c) % -66,000 d) T+ 66,000

A company’s March 2018 production details are as under :

Fixed overhead cost as per budget I 20,000, production units as per budget
10,000, Actual production units during the month 10,500, Actual fixed overhead
cost during the month ¥ 20,800. Hence fixed overhead volume variance

(a) ¥ +1000 (b) %-1000
c) T +800 (d) T-800

On the basis of above information in (8) fixed overhead budget variance
(a) I-800 (b) T +800
(¢) T+1000 (d) T-1000

Compound interest is calculated on
(a) Principal amount + interest (b) Principal amount

(c) Interest amount (d) Instalment amount

While evaluating capital investment proposals, the time value of money is
considered in case of

(a) Discounted cash flow method (b) Pay-back period
(c) ARR method (d) None of these

Both the future and present value of a sum of money are based on
(a) Time period (b) Interest rate
(c) Both (a) and (b) (d) None of these




